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6HJDOD� SXML� GDQ� V\XNXU� SHQXOLV� SDQMDWNDQ� NHKDGLUDW� $//$+� 6:7� \DQJ� WHODK�

PHOLPSDKNDQ� UDKPDWQ\D� NHSDGD� SHQXOLV� VHKLQJJD� GDSDW� PHQ\HOHVDLNDQ� NDU\D� 7XJDV� DNKLU�

GHQJDQ� FXNXS� PDNVLPDO� GDQ� GLEHULNDQ� NHVHPSDWDQ� XQWXN� PHOHQJNDSL� GDQ� PHQ\HOHVDLNDQ�

/DSRUDQ� SHQJDQWDU� 7XJDV� DNKLU� \DQJ�PHQMDGL� VDODK� VDWX� V\DUDW� GDODP�PHQ\HOHVDLNDQ� VWXGL�

SHQXOLV�GL�MXUXVDQ�'HVDLQ�.RPXQLNDVL�9LVXDO��GL�8QLYHUVLWDV�7HONRP�

'DODP�SHQ\XVXQDQQ\D��SHQXOLV�VHSHQXKQ\D�VDGDU�EDKZD�WHODK�VHOHVDLQ\D�NDU\D�WXJDV�

DNKLU�GDQ�MXJD�ODSRUDQ SHQXOLV��EHUNDW�EDQWXDQ��GXNXQJDQ�VHUWD�ELPELQJDQ�GDUL�EHUEDJDL�SLKDN�

EDLN�EHUVLIDW�PRULO�PDXSXQ�PDWHULDO��2OHK�NDUHQDQ\D�SHQXOLV�PHQJXFDSNDQ�EDQ\DN�EDQ\DN�

WHULPDNDVLK� NHSDGD� SLKDN�SLKDN� \DQJ� WHODK� WHUOLEDW� GDQ� PHPEDQWX� GLGDODP� SURVHV� SHQXOLV�

PHQ\HOHVDLNDQ�ODSRUDQ�GDQ�NDU\D�WXJDV�DNKLU�

�� .HGXD�RUDQJ�WXD�SHQXOLV��%DSDN�6X\DWQR�GDQ�,EX�5HVPL\DWL�\DQJ�VHQDQWLDVD�VHODOX�

PHPEHULNDQ�GXNXJDQ�GRD��PRUDO��NDVLK�VD\LQJ��GDQ�PDWHUL�NHSDGD�SHQXOLV�

�� $ULV�5DKPDQV\DK� 6�6Q��0�'V 6HODNX�GRVHQ�SHPELPELQJ�\DQJ�WHODK�PHPELPELQJ�

SHQXOLV�GLGDODP�PHQ\HOHVDLNDQ�NDU\D�WXJDV�DNKLU�GDQ�MXJD�ODSRUDQ�SHQJDQWDU�WXJDV�

DNKLU�

�� 5REL� 5XVGLDQD� 6�3G��0�6Q� GDQ� $UG\� DQZDU� 6�3G��0�6Q�� 6HODNX� GRVHQ� \DQJ�

PHPEDQWX�SHQXOLV�GLGDODP�PHQ\HOHVDLNDQ�WXJDV�DNKLU�GL�EDJLDQ�$XGLR�GDQ�0XVLN�

�� 'LPDV�.ULVQD�$GLW\D��0�6Q�6HODNX�NHWXD�78&&�\DQJ�WHODK�PHQJL]LQNDQ�SHQXOLV�

GDQ�WLP�XQWXN�PHQJJXQDNDQ�IDVLOLWDV�&*,�/DE

�� 6HOXUXK� GRVHQ� '.9� 0XOWLPHGLD� 7HONRP� 8QLYHUVLW\� \DQJ� WHODK� PHPEHULNDQ�

LOPXQ\D��NKXVXVQ\D�%S�$ULHI�%XGLPDQ��6�6Q���0�6Q��GDQ� 6DNLQD�)DWKLDQL�0�'V�

VHODNX�SHQJXML���GDQ��

�� %K\DQ� $SULO\DQ� $� GDQ� )DX]L� ,VPDLO� VHODNX� UHNDQ� VDWX� WHDP� SHQXOLV� GLGDODP�

PHQ\HOHVDLNDQ�NDU\D�WXJDV�DNKLU�

�� 7HPDQ�GHNDW�SHQXOLV�\DQJ�WHODK�PHQVXSSRUW�SHQXOLV�XQWXN�PHQ\HOHVDLNDQ�/DSRUDQ�

VHUWD�NDU\D�WXJDV�DNKLU�


